9.2 Angles and the Unit
Circle
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How many degrees make up a full
rotation?
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Draw each angle in standard position. What quadrant is the terminal
side in?

E. -150° F. 180°




G. Draw 135° and -225° on the same coordinate plane. What do you
| notice?
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Coterminal angle are angles in standard position with the

same —E/VYY\\“ side.

Strategy for finding
coterminal angles
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Listlthree &:oterminal angles for each of the following. Make sure at

,_z‘ least one of them is negative.
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45°-45°-90° Triangle
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30°-60°-90° Triangle
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The Unit Circle conter - (O,O) o0

The Unit Circle is a circle with a radius of Jtis
segmented into 3 different triangles per quadrant, with interior w
angles of 30°, 45°, and 60°. The figure to the right illustrates
this concept for the first quadrant.

We can use the relationships above to fill out the missing
information for the unit circle below.
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Find the EXACT values of the following trig functions:
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